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Weighted Difference Link and Tapers Formula
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> Weighted Different Link and Tapers At (X, T XTHOH&E
DT—3DHEFTDEEIZEDHONET,

> EEEXEREHROT —REIFELY HKEDT—ARIZIEAN
UFI—IRBYFEFA, HREIXFZEIZH T ILEIFIZK
FLTHEILTLWVET,

> ZDE=H. HUTIVZEITERRADER (B - FEFRE A
BRFEICE LN BVWRELLGLLEERLEE) [THEREEEED
NRIKEICEEEXEZHAEENHYET,



BENEZILEIERFIZILIZDINT
> WOLTARK I, o TILDIERFNLEELEZBOMNTSEL
SIZERFESNTWAZEITEEL TS,
Bl LW T ILABMENh -, FEFELEEELTWSY U TIIL
MNTF—REEEIELI-EE

> HUTIILOEFHELT, READHEICRBRSELIDE
AHYFET,

The WDLT formula

AHE. = tapers + difference link

/NN

AHE, = (aX AHE,)+ (B X ahe,) + (ahe. — ahey)
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“Difference Link” & “Tapers”
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Example: Sample Totals

LiR—k-T—2(BEADHER) VIAMIT -T2 (BEADHER)

1001 5 10 4000 400 1001 50 20000 2000
1002 1 120 37800 4200 1002 120 37800 4200
1003 25 2 1800 90 1003 50 45000 2250

Total 220 102800 8450
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Step 2: U T IILEHDEE
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awh = wh/pw

ahe = pr/wh

Bl T ILEHDEE

awh. = wh [ pw
= 8450/ 220
= 38.4 hours

ahe, = pr /[ wh
= $102,800 / 8450
=512.17



Step 3: WDLT AR Z ALV -HFHEDETE

AHE,. = tapers + difference link

AHE, = (a X AHE,) + (B X ahe,) + (ahe. — ahey)
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AHE, = (aXAHE,) + (B X ahe,) + (ahe, — ahe,)
=0.9%$12.50+ 0.1 X $13.00 + ($12.17 - $13.00)
=$11.25 +$1.30 +  (-$0.83)
= §11.72



Step 4: Aggregate Up
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Step 4: Aggregate Up

1. ENELTELICEERERE. 7BRHE. ES0KHZHE
EESR
WH aggregate = PW X AWH
PR aggregate = WH aggregate X AHE

2. 1OEFHZAVT. &SN EILOMETEHZEHET S,
AWH = WH aggregate /] PW aggregate
AHE = PR aggregate /| WH aggregate
AWE = AWH X AHE



Example: Aggregate Up

| L | PW. | AWH. | AHE__
A 200 20 $30
B 1000 50 $10
FEE ] D&Y BEEDEN

Cell A (200 x 20) = 4000 (4000 x 30) = 120000
Cell B (1000 x 50) = 50000 (50000 x 10) = 500000
Cell "X" 54000 620000
(%) Cell “X” XEHEIL

Cell “X” PWC_ = 1200
Cell “X” AWH_ = 54000/1200 =45 hours
Cell “X” AEH_ = 620000 / 54000 = $11.48
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